Algebra 2 6.4

Simplify radicals

Use a calculator to approximate roots vs
Simplify expression for exact answer
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Note: "simplify" is not asking for a (calculator) decimal answer...

(often has some variable(s) in the answer too)
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Technically: even powers can't be negative so answer key willuse | |
don't worry about it :)
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Simplify vs approximate: different questions
(follow directions)

N
Use a calculator to approximate each value to three decimal places.
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inverse functions:

Powers Factors Words Roots
X =64 4.4.4=64 4 is a cube root of 64. V64 =4
X' =625 5.5.5.5=625 | 5isa fourth root of 625. V625 =5
X =32 2.2.2.2.2=232 | 2isafifth root of 32. V32 =2
a=b fa-a-a-.._.a‘=b ais an nth root of b. Vb=a

n factors of a







